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(1)  Use Gaussian Elimination to find all solutions of the system [11 points]

x+2y+3z= 9
2x -2z=-2
3x+2y+ z= 7



(2)  Use the method of elimination to determine whether the system [10 points]

4x-2y+6z=0
x— y- z=90
2x—- y+3z=0

is consistent or inconsistent. If it is consistent, find its solution.



3 61 7

(3)  Find the reduced row echelon form of the matrix 4=[2 4 5 9 . [13 points]
5 10 8 18



s
(4)  Verifythat y, =(cosx)In(secx+tanx), where 0<x< = isasolution of the

differential equation »"+y=—tanx. [10 points)



(5)  Solve the initial value problem [12 points]

dy _xy—5x=2y+10 (0)

, =1
dx xy—4x-3y+12 '




(6)  Find the position function X (t ) of a moving particle with acceleration [9 points]

a(t)=50sin5t , initial position X, =8 and initial velocity vy =10



(7)  Solve the initial value problem [12 points]

xy' =2y+ x> cosx, y(-)z%_



(8)  Use an appropriate substitution to transform the differential equation [10 points]

3
+ (sinx) 3 = cosx

r

]

y

into a linear first-order differential equation.



(9)  Solve the differential equation (61023 +2y* )dx+(9x2y2 +8xy° +cos y) dy=0,
[13 points]
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